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Topic:- English
1)
Question Stimulus :-

Fill in the blank with the correct option.

It was so noisy thatwe ___ hear ourselves speak.
® won’t
® cannot
® mustn’t
® couldn't
Correct Answer :-couldn't
2)
Question Stimulus :-

Fill in the blank with the correct option.

Candidates _____ answer two questions from each paper.
® shouldn't
® peed
¢ could

® must
Correct Answer :-must
3)
Question Stimulus :-

Fill in the blank with the correct option.

Julie swim when she was four years old.

® could



® can

® might

® should
Correct Answer :-could
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

Competitors must abide the Judge's decision.
® for

® at

* by
Correct Answer :-by
5)

Question Stimulus :-

Fill in the blank with the correct preposition.

The Opposition party called for the Minister's resignation______ the scandal broke.
® after
® across
® along
® in
Correct Answer :-after
6)
Question Stimulus :-

Fill in the blank with the correct preposition.

I saw a few familiar faces the crowd.




® among

® between

® besides

® into
Correct Answer :-among
7)
Question Stimulus :-

Fill in the blank with the correct prepositions

‘We will be staying Mumbai ___ next Saturday.

® on, from

for, from

® by, by

® in, till
Correct Answer :-in,till
8)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part ofa
sentence has an error. If there is no error, mark your answer as ‘No error’.

® He have been

® dialing your number

® since yesterday

® No Error.
Correct Answer :-He have been
9)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part of a
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® A burden
® ofonesown
® choice is not felt.
® No Error.
Correct Answer :-ofones own

10)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which partofa
sentence has an error. If there is no error, mark your answer as ‘No error’.

® A fool and
® his money is
® ceasily parted.
® No Error.
Correct Answer :-his money is

11)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part ofa
sentence has an error. If there is no error, mark your answer as ‘No error’.

® A ounce of

® prevention is worth
® a pound of cure.

® No Error.

Correct Answer :-A ounce of

12)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part of a
sentence has an error. If there is no error, mark your answer as ‘No error’.



A calm sea

® do not make

® a skilled sailor.
® No Error.

Correct Answer :-do not make

13)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part of a
sentence has an error. If there is no error, mark your answer as ‘No error’.

® Ifmy uncle

® will come to Delhi,

he will meet you.
® No Error.
Correct Answer :-will come to Delhi,

14)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part of a
sentence has an error. If there is no error, mark your answer as ‘No error’.

® Michael bought
® a new computer,
® and he still has the old one.
® No Error
Correct Answer :-and he still has the old one.

15)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which partofa
sentence has an error. If there is no error, mark your answer as ‘No error’.



® Jfyouhad warned me,

I would not have told your father
® about that party.
® No Error.

Correct Answer :-No Error.

16)

Question Stimulus :-

Choose the grammatically correct sentence out of the given options.
® She is the weaker of the two sisters.
® She is weaker of the two sisters.
® She is the weaker of two sisters.
® She is weaker of two sisters.
Correct Answer :-She is the weaker of the two sisters.
17)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of
the sentence given below.

The Prince said, "It gives me great pleasure to be here this evening.”
® The Prince said that it gave him great pleasure to be here that evening.
® The Prince said that it gives him great pleasure to be here that evening.
® The Prince said that it gives him great pleasure to be there that evening.

® The Prince said that it gave him great pleasure to be there that evening.

Correct Answer :-

The Prince said that it gave him great pleasure to be there that evening.
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Out of the given options, choose the one which is the correct indirect speech of the sentence given below.

He said, “I do not wish to see any of you; go away.”
® He said that he does not wish to see any of them and orders them to go away.
® He said that he did not wish to see any of you and ordered them to go away.
® He said that he did not wish to see any of them and ordered them to go away.
® He said that he did not wish to see any of them and orders them to go away.

Correct Answer :-

He said that he did not wish to see any of them and ordered them to go away.

19)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the sentence given below.

The grandfather said to his grandsons, “Did you not like my story yesterday?”
® The grandfather asked his grandsons if they did not like his story yesterday.
® The grandfather asked his grandsons if they did not like his story the day before.
® The grandfather asked his grandsons if they had not liked his story the day before.
® The grandfather asked his grandsons if they have not liked his story the day before.

Correct Answer :-The grandfather asked his grandsons if they had not liked his story the day before.

20)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the sentence given below.

The fields are being ploughed by the farmers.
® The fields have been ploughed by the farmers.
® The farmers have been ploughing the fields.
® The farmers are ploughing the fields.

® The farmers have ploughed the fields.
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The farmers are ploughing the fields.

21)

Question Stimulus :-
Out of the given options, choose the one which is the correct passive voice of the sentence given below.

Kindly do not smoke in public place.
®  You had been requested not to smoke in public place.
®  You were requested not to smoke in public place.
®  You are requested not to smoke in public place.

® We are requesting you not to smoke in public place.

Correct Answer :-You are requested not to smoke in public place.

22)

Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the sentence given below.

Can I solve these sums?
® (Can these sums be solved by me?
®  Will these sums be solved by me?
® Shall these sums be solved by me?

®  Would these sums be solved by me?

Correct Answer :-Can these sums be solved by me?

23)

Question Stimulus :-
Fill in the blank with the correct option.

They have___ money, so their daughter cannot pay her tuition fees.
® few
® the little

® g little



® little
Correct Answer :-little

24)

Question Stimulus :-
Fill in the blank with the correct option.

There are _____ slices of cake left over from the party.
® few
® afew
® the few
® little
Correct Answer :-afew
25)
Question Stimulus :-

Fill in the blank with the correct option.

rays of sunlight pierced the smoke.
® A few
® Few
® Little
® The few
Correct Answer :-A few

26)

Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

‘Where do you think revealing raiment's, weird slang and our youths' dismaying attitudes come from? Very obviously they are
the results of attempts to emulate the western world. Probe into the subject, delve into its various effects - you will be shocked at
how rapidly Western culture is corroding our culture - exclusively ours, exclusively to be proud of, to rust. These spicy sauces of
Western culture surely flatter the palate, but in course of time won't they canker it too?

Wnctawrn annntwine dn hava Aacivahla alamantc wwarth canvina Rot ava wa talzinag in thacna nacifiva alamantc? Na wa cnnm $#n ha



What does 'modern' mean to us? Do we become modern by wearing outrageous clothes that make us look like aliens? Does
modernism set in by profuse use of western slang? Life for today's youth means rocketing in BM'Ws or piercing flesh, late night
parties, and black nail enamel and red mane. That is what a good percent of our younger generation have become, as a result of
the obsessive aping of the glittering West.

What is the meaning of the word ‘raiment's’ used in the first line of the paragraph?
® Attitude
®  Wealth
® Clothes

® (Cars

Correct Answer :=Clothes

27)

Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the following questions.

Where do you think revealing raiment's, weird slang and our youths' dismaying attitudes come from? Very obviously they are
the results of attempts to emulate the western world. Probe into the subject, delve into its various effects - you will be shocked at
how rapidly Western culture is corroding our culture - exclusively ours, exclusively to be proud of, to rust. These spicy sauces of
‘Western culture surely flatter the palate, but in course of time won't they canker it too?

Western countries do have desirable elements worth copying. But are we taking in those positive elements? No, we seem to be
merely diving into the external glitter of the West. The root of all this misfortune lies in the soil nourished by the word 'modern'.
What does 'modern' mean to us? Do we become modern by wearing outrageous clothes that make us look like aliens? Does
modernism set in by profuse use of western slang? Life for today's youth means rocketing in BMWs or piercing flesh, late night

parties, and black nail enamel and red mane. That is what a good percent of our younger generation have become, as a result of
the obsessive aping of the glittering West.

Out of the given options, what would be the most appropriate Title of the passage?
® Pride in national heritage
® Patriotic youth
® Playing to Western Tunes

® None of the above
Correct Answer :-

Playing to Western Tunes



Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

‘Where do you think revealing raiment's, weird slang and our youths' dismaying attitudes come from? Very obviously they are
the results of attempts to emulate the western world. Probe into the subject, delve into its various effects - you will be shocked at
how rapidly Western culture is corroding our culture - exclusively ours, exclusively to be proud of, to rust. These spicy sauces of
Western culture surely flatter the palate, but in course of time won't they canker it too?

Western countries do have desirable elements worth copying. But are we taking in those positive elements? No, we seem to be
merely diving into the external glitter of the West. The root of all this misfortune lies in the soil nourished by the word 'modern'.
‘What does 'modern' mean to us? Do we become modern by wearing outrageous clothes that make us look like aliens? Does
modernism set in by profuse use of western slang? Life for today's youth means rocketing in BMWs or piercing flesh, late night

parties, and black nail enamel and red mane. That is what a good percent of our younger generation have become, as a result of
the obsessive aping of the glittering West.

What does the world “slang” mean?
® A kind of language
® A kind of fight or combat
® Accessories

® None of the above

Correct Answer :-A kind of language

29)

Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

Where do you think revealing raiment's, weird slang and our youths' dismaying attitudes come from? Very obviously they are
the results of attempts to emulate the western world. Probe into the subject, delve into its various effects - you will be shocked at
how rapidly Western culture is corroding our culture - exclusively ours, exclusively to be proud of, to rust. These spicy sauces of
Western culture surely flatter the palate, but in course of time won't they canker it too?

Western countries do have desirable elements worth copying. But are we taking in those positive elements? No, we seem to be
merely diving into the external glitter of the West. The root of all this misfortune lies in the soil nourished by the word 'modern’.
What does 'modern’' mean to us? Do we become modern by wearing outrageous clothes that make us look like aliens? Does
modernism set in by profuse use of western slang? Life for today's youth means rocketing in BMWs or piercing flesh, late night
parties, and black nail enamel and red mane. That is what a good percent of our younger generation have become, as a result of
the obsessive aping of the glittering West.

What does the phrase ‘obsessive aping of the glittering West’, used at the last of the paragraph suggest?
® Hatred for western culture.

® Blindly copying the west without being able to distinguish clearly between the positive and negative aspects of western



® A desire to settle abroad.

® None of the above.

Correct Answer :-Blindly copying the west without being able to distinguish clearly between the positive and negative
aspects of western culture.

30)

Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

Where do you think revealing raiment's, weird slang and our youths' dismaying attitudes come from? Very obviously they are
the results of attempts to emulate the western world. Probe into the subject, delve into its various effects - you will be shocked at
how rapidly Western culture is corroding our culture - exclusively ours, exclusively to be proud of, to rust. These spicy sauces of
‘Western culture surely flatter the palate, but in course of time won't they canker it too?

Western countries do have desirable elements worth copying. But are we taking in those positive elements? No, we seem to be
merely diving into the external glitter of the West. The root of all this misfortune lies in the soil nourished by the word 'modern’.
What does 'modern’' mean to us? Do we become modern by wearing outrageous clothes that make us look like aliens? Does
modernism set in by profuse use of western slang? Life for today's youth means rocketing in BMWs or piercing flesh, late night
parties, and black nail enamel and red mane. That is what a good percent of our younger generation have become, as a result of
the obsessive aping of the glittering West.

‘Why does the author describe the clothes as ‘outrageous’?
® Because the clothes are so unusual or strange that they seem to shock the onlooker.
® Because the clothes are so attractive that whoever sees it gets carried away.
® Because the clothes are so expensive and gaudy that everyone feels envious.

® None of the above.

Correct Answer :-Because the clothes are so unusual or strange that they seem to shock the onlooker.

Topic:- Hindi
1)

Question Stimulus :-
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2)

Question Stimulus :-
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3)

Question Stimulus :-
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4)
Question Stimulus :-
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Question Stimulus :-
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6)
Question Stimulus :-
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7)
Question Stimulus :-
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8)
Question Stimulus :-
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Question Stimulus :-
" U fh <Teg WYE | & ©-
* 9XEH, TG
* dcH, IEAM
® IS, STPpraal
* SWERT, I
Correct Answer :-91gwid, STHAGT

13)
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Question Stimulus :-
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Question Stimulus :-
HiF B e & A F R @ gereRT §-
o TH Y HA T F
g H W
* IO U&= 3§ I
e Ul IARAT
Correct Answer :-gig # g1
16)
Question Stimulus :-
"UEY B gargdl S’ GeTaR BT "al o 3-
o TSl | TG
® YERT ST
* S T &
o FHIRE g
Correct Answer :-gaRT ST
17)

Question Stimulus :-

“ JAERATS! TR FURM SUHT I A1eT FRA BT YA FHaT 817 Y@ifbd Garax o1 o 2-
* WP IaER & fovs




o @y gff
o fIyrTUTa
* qId dgaq &I
Correct Answer :-@rdf gfid

18)
Question Stimulus :-
{30 T A & RIC TP Weg BT UGN Fifore-
WPl ¥ WY I Bt A arer’
o HEEHA
* HUCHDIV]
* HHTY
* B
Correct Answer :-HUcHIHIo0
19)
Question Stimulus :-

fad M areiY & RIQ TP Wes BT AT Fifere-
SR RIF TR SRR &9 § g arar

o TR
* THETA
* AU
o wafvuit
Correct Answer :-XJHUd

20)
Question Stimulus :-
R ¥¢ % TS WU § 16-16 AETE 3R 3id # 7= a1 81 98 HeardT &-

P



Correct Answer :-3Umg

21)

Question Stimulus :-
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Correct Answer :-3Rg

24)

Question Stimulus :-

o A I SR Tel BT T Pifore-
* IfIig
o I
o 3ey
o W
Correct Answer :-3Tey
25)
Question Stimulus :-
TP URER &t Jg@ U 8-
o qffra
* Hsi
o foreadl
o Wl
Correct Answer :-gsI

26)

Question Stimulus :-

AADTd BId BT YRS T SAYST fre HTaT F 72
o ARH
o 3afy
* gesit



o ol
Correct Answer :-geal

27)

Question Stimulus :-
g ® ¥ aie &1 watgard & 3-
o fget
® U
° Ux
o B
Correct Answer :-%g

28)
Question Stimulus :-
‘R’ T ¥ e wafgard &-
* Had
* FNIR
° I
o T A FIS TR
Correct Answer :-3d9

29)
Question Stimulus :-
3R BT Tgd e 8-

° Tl

o 3Ry

* 3y



Correct Answer :-gs!
30)
Question Stimulus :-
‘UG’ $T T TS 2-

o YU

* T

o Iy

® JAYUM™
Correct Answer :-TdiUs=
31)
Question Stimulus :-
\gs—as.-: BT TA ﬁ'ﬂg %_

o Ug WIS

* WSS

o disi 31 dls

o T A PR T
Correct Answer :-1si &I dIs

32)
Question Stimulus :-
st T Wi e B-

® 3G+ 3id

® 3+ 3id

® 3fT:+3d

® 3R+l

Correct Answer :-3[+ 3



Question Stimulus :-
wea § vy | eya-t 82

o Jur Gy

o i WY

o g3 TR

o 3T Wi
Correct Answer :-gfs df

34)
Question Stimulus :-
Fafafed 6 arai & § yyw 9 sifaw ¥ € v o1 SR $H # suafRua Hifvme)
(1) R
() 31 FE SHfH
() fagr, gfswm aur |y |l
() YT SR ey
(@) BT A&
(6) TR AHR HXd §

e XTAY

* ¥TAT

* WA

® dYgNd

Correct Answer :-94d3 9

35)

Question Stimulus :-

o fafea 6 arizi & & wyw 9 siftw FAifda € [ 9 ke a1 § wafRum ik
(1) ¥add URd &I

(@) TP orer < faenmef § 9 wa



(a1 Twguf e st faenffat u= @
(@) T HRA P ANTRS B TUT HRA BI
(6) ik Far &

e gGIT
e ITFY
e AR
e gAY
Correct Answer :-g999dv

36)
Question Stimulus :-

& AT A o T o7 39 Ul H a1 e -
. &
o T
o I
o el gl
Correct Answer :-31

37)

Question Stimulus :-

“3feR-UHE Gl V& ARI-US HUT AVRIR” 39 Ufe # B 9T PR 8-
o JUAT
* YD
o IEm
o yifaue
Correct Answer :-FU&

38)



o # 9 gz 99w sifte-
o T Ug W T 2
* T UE B B &I
* g B T HAI g
* HAT §H UT P gl
Correct Answer :-gd 9§ ST & gl
39)
Question Stimulus :-
e § ¥ 5 a9 oite-
o WSHI A U feram|
* g Bidar HER A feran 21
o R U= &I feraml
* T TP UG THI
Correct Answer :-ATda1 [&® ¢ &l 8l

40)

Question Stimulus :-
e dfeaal @1 deuor sifore-

YRd ¥ forg Wt 9w faan man, @ o= Rt o ava e §99 41 g 3 ggdar a9 sifvfd &1 S99 T
Bre®H? aard gt T i I\ &1 ot wfgar 99 fedt 99 3 et dvT siewr wia fidl F T )

o gl Sitaq 9= far
* gl g 981 ME
o Afdwar w1 ga
o WA
Correct Answer :-37al siiad 3o faar

41)

Question Stimulus :-



9 ¥ S9-91 fawe 9t 34 foee & R —E o 32
o Tfa
* |
o &
® e
Correct Answer :-Tg+

42)

Question Stimulus :-

SMHIl Teg BIHY F forw Fw F A ww o 3, wuA Fifvie-

Correct Answer :-Hifers

43)

Question Stimulus :-
fFrafeiee srgeta-fadia gl & & IS Uh g TE T8 ¢, 79 Pifoe-
* WPRGS
¢ TRPR-gEwpd
o UN-yUYg
* RT-SYRT
Correct Answer -IRTPR-U=pd

44)

Question Stimulus :-

Frafafera sra-faca gl § 9 $1E T g Hel 7, 997 Hifore-



o PyU-T
o HIu-PuT
o T A B TR

Correct Answer :-®Hu-$ul

45)

Question Stimulus :-

fara, =7, SUB B ouad B $ e Ty favm Rig &1 waiT faar i g-
* UTIArEP
o fwrieatys
o of fRm
o 3y faRm
Correct Answer :-fawaieaiys

46)

Question Stimulus :-
o § & oo B

o UGSl

* BT

o UIEd

* WTHd
Correct Answer :-ygadl

47)

Question Stimulus :-
Ty o1 &1 foh T A W g €2

o dRIH

* IR I



* YIH®
¢ g
Correct Answer :-§7R 39

48)

Question Stimulus :-

w9 ¥ & Gt Tuew @ v+ AR un & @rteR 9 g 9 g, o9 39 U B /1 wed @2

® JIYRUIHUI
Correct Answer :-JIyRultHor

49)

Question Stimulus :-

Yheia RAurdl frmen 5t ®1ea 7 R A ¥ 8-
o T
o g B Bt
o fER
* o
Correct Answer :-Sg! &1 $fd

50)

Question Stimulus :-

Wt &1 Su=mw e & 4 2-
e % FI grad
* I & U

o Romdf



* WE
Correct Answer :-% &t gad
51)

Question Stimulus :-

AV BT U5l AINS THRR UF HIF-91 32
* Tgsitad
* 3w
o i faar
o T A P TR
Correct Answer :-Adsiia"

52)

Question Stimulus :-
9 uget &1 Tgt SW ge-
“OF ETST H o [T BT U

® HTHT

* g

® 33T

o T W PR T
Correct Answer :-3f@T

53)

Question Stimulus :-
9 ugdt @1 Tt 3w -
“HId IRTS, I 31 SR 984 a1 T 3711~



* JWHY
Correct Answer :-3g4y

54)
Question Stimulus :-

U+ 3T+ + T+ IT+T+T’ BT L& I S&TOT GTI-

e TTH I P T8
Correct Answer :-Uigri

55)
Question Stimulus :-
d, S, ©, ¥ IATeR0 &-
o TR o= F
o Txif-udf v &
o Tuff e &
o IAY TS P
Correct Answer :-w=i-8adf T &

56)

Question Stimulus :-

o vl & Weg-gt & ord-"g § | I A7 T 87
* SeG-SIeg = SIGA-]I
* STaT-Sarel = f3iee-aue
* GOI-3I6T = @M | A DIST gM-ull T=l 7 &

o J3AT-S3T = ATI-gad



Correct Answer :-J3fI-5[3T = qRI-gad
57)
Question Stimulus :-
“IHYB-BHY G- BT Al 3rf-Heg ghT-
* S 7 YT gl- Sl PeT o TP
* Y Aral-PHe aren
o S T YT BI-SNl BT 7 o P
S YAl §l-il BT o TP
Correct Answer :-Sit 7 Y&dl gi-oll gl 7 o1 b

58)

Question Stimulus :-

o § iy U & qudf Tsg $T1 T Pifve-
o ufiae
o foddt
o uTHieh
* WIUPRI
Correct Answer :-3uroieh

59)
Question Stimulus :-
frafafed o & @ Y@ifed g & TAFT WUeg PT T BIforg-
~Ree[erad HeT g aTed 21
o fidqeny

°* JUy



Correct Answer :-3Ueqdg

60)
Question Stimulus :-
o JfUPUT TYFY BT
o IS TYFY P
* UM TYFY BT
o FY TYEY BT
Correct Answer :-3UrgH dq&y &1
61)

Question Stimulus :-
HITS]” Vieg BT HHTH AU 8-

* HA PI WIS
e HIE § Mt
* #IE % forg met
* U GRI MY
Correct Answer :-A1d & forg st

62)

Question Stimulus :-

o Tar & woft vl & o e’ < &1 Y Y B, 98 WU @-
o TR T
® JHGR gg AHN
o IfeR® Tgdife TN
* TAVGR &% WA

Correct Answer :-sd¥d? §§ JHN



Question Stimulus :-

o ol d @ WRA a9 BT 99 Pifee-
* g WM @IHI I 14T
* g W gwH 7
.« g
o TTH q BIg Tl
Correct Answer :-3g 98 @ 8

64)

Question Stimulus :-

ST T AR H IH-HT 1A 82
o o
o FHH I
* YA
o T A T T
Correct Answer :-&q arsd

65)

Question Stimulus :-
“SeAqERiY’ F1 SRisht wafy -
® Apprise
® Appraise
® Assiduous
®* None

Correct Answer :-Assiduous

66)

Question Stimulus :-



HRI oY IUgH WAeg B
® Mention
®* Modification
® Manipulate
® Manifesto

Correct Answer :-Modification

67)

Question Stimulus :-
*STET 7 Ugd I 987 ugd By’ dwifea o1 onf 82

o &fd F g o W srmg T8t
* 3fyfRgUBaTe
o BfY Heuie ST 8
* Hfd TG UqUT §iaT B
Correct Answer :-®f Heg-TRId T

68)

Question Stimulus :-
AN A oW 997 3 & 1w el diwifad &1 w1 82

* TR T WM RSB I WG
o X PI QI Sff &1 A
o el & U | ST ger
* To¥ b EIYH IS
Correct Answer :-f3&it & YT & SiPT ger

69)

Question Stimulus :-
AU TR FTaeil’ Alpiiad BT I 3 82



o Wi 3meHt guR FI fRiar A8 Fear

o Sl FRTerar Gt ey

o HEYT Ta Sl ©
Correct Answer :-1df et gar 3t fiar 78 Hwar
70)

Question Stimulus :-

IR & SYH URT BT 9T BIfoTL-
o IUT U
o fJars & SUaE |
o g@d
o P I T
Correct Answer :-fdag & Iudes |

Topic:- General Knowledge

1)
Question Stimulus :-

Which among the following States is known for Sandalwood? / Fufaf@a & @ &9 a1 77 deq
®18 & g ST oIt 82

* Odisha / STSTM

® Madhya Pradesh / H& Pt

® Goa/ M

® Karnataka / HACPH
Correct Answer :-Karnataka / ®Ic®
2)
Question Stimulus :-

Match the following and select the correct answer from the codes given below: / & Cal

foremg ok i faw 7T SISt A ¥ w8 I &1 T Y

List-1 List-1I



1. Sikkim a. Kohima

2. Rajasthan b. Bhubaneshwar
3. Odisha c. Jaipur
4. Nagaland d. Gangtok
-1 gfa-11
1. fafepa a. difgwT
2. IR b. HaA4R
3. IS C. SIgYY
4. AT S d. Ters

® 1-d, 2-c, 3-b, 4-a

® 1-d, 2-c, 3-a, 4-b

® 1-c, 2-d, 3-b, 4-a

® 1-d, 2-b, 3-c, 4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
3)
Question Stimulus :-

Where was 18™ South Asian Association for Regional Cooperation (SAARC) summit held?/ 189 aféror Qﬁ'm'l_sc

AT T WS (A1) Pl gl U2
* Kathmandu/ ®TSHIG
* New Delhi/ 7§ faeei
® Islamabad/ SXCITHIdAI¢
® Dhaka/ GIPI
Correct Answer :-Dhaka/ GIhI
4)
Question Stimulus :-

Seaweeds can be used as : / WWWWWWWW?



1. Food / 3F 2.Fertiliser/ Wiq 3. To remove undesired nutrients from water / LICik:|

SFUANTt v el i Feem & g

Select the correct answer from the option given below: / g ol # 9 T SR &1 9UT P
e 1and3/13R 3
® 2only/ Fad 2
® 3only/ Fad 3
 1,2and3/1,2 3R 3
Correct Answer :-1,2and 3/ 1,2 3R 3
5)

Question Stimulus :-

MS applications are examples of / MS 3fQRIHH F 3T B
® Platform software / WcBH AIeedu’
® Hardware / E’Iéa'q?'
® Operating System software / TR ey ATvedar
® Application Software / SIRIPRH TR
Correct Answer :-Application Software / 3ITRIBRM ATUedUR

6)
Question Stimulus :-

___is the smallest gland in human body. / ___ HTHd TR A 93 DI WA B
® Parotid gland / HWT"E: Ty
® Apocrine sweat gland / Rravardt wit=r ufy
® Apocrine gland / SOETat Uiy
® Ebner’s gland / TeX¥ 3 Uiy
Correct Answer :-Apocrine gland / 3THATal JfY

7)

o~ __ _ _m®_ __ ewm=___ __W__ _ _



Which is the longest river in India? / HIRd H g9 Tt =|'<ﬂ &I H %?
® Brahmaputra / STeTqA
® Ganga / T
® Godavari / Tﬁ?{ﬁ'\&
® Narmada / T-ITTET
Correct Answer :-Brahmaputra / S¢19A
8)
Question Stimulus :-

The Salal Project is on the River A GIGH CIEUIEE | iy & I8 R %|
® Chenab / GE G|
® Jhelaum / E?Iﬂ'q
® Ravi / ITdl
® Sutlej / Hdclol
Correct Answer :-Chenab / 3919
9)

Question Stimulus :-

Which is the largest State in India by area? / aa & 'E],?I'Iﬁﬂi YRA § S I1 9 99 CE] g2
® Madhya Pradesh / H&T USRI
® Maharashtra / HgIRTY
® Karnataka / BICH
® Rajasthan / ITSTRITT
Correct Answer :-Rajasthan / ITSTRITT
10)

Question Stimulus :-

Where is the Central Food Technological Research Institute located? / Fg T Wt STHY R

W e/S~___ A



® Bangalore / dTER
¢ Chennai / 995
® Mumbai /'ﬂ._cl—{?
® Mysore / 'a;B'
Correct Answer :-Mysore / HR

11)
Question Stimulus :-

Which of the following states is NOT an the border of Gujarat? / g d I DI 91 I MGG Cak:iL] T'Iﬁ %?
® Telangana / CEHIEI
® Maharastra / TI?'RTg
® Rajastan / XTSIRYTA
® Madhya Pradesh / ] EI%QT
Correct Answer :-Telangana / AT
12)

Question Stimulus :-

Which historical place is a small village in the Navsari district of Gujarat? / CAp kI QﬁlﬁTﬁﬁ? BT oRTd &
TR forel & U Bier a1 ia 82

e Chauri Chaura / T} TRT

* Malgudi / ATER[ST

o Dandi/ﬂ'i?‘ﬁ

* Noakhali / TT3T@Te!
Correct Answer :-Dandi / §iS!
13)

Question Stimulus :-

Which is the second highest mountain in the world? / ﬁ'%[ DI g 99 &1 udd CaR| Esl) %?

LN ~



® Kangchenjunga / CEEER|

* K2/%2

° Dhaulagiri/'iﬁ_flTﬁR&
Correct Answer :-K2 / &2
14)

Question Stimulus :-

Where is International Court of Justice located? / GER?]@!I Ty HEl (AT 82
* Hague — Netherlands / 37 - iezdgd
* Cape town — South Africa / U TS - ASY AMHHT
e Geneva — Switzerland / forar - RaeeRds
® New York — USA /< 9T% - 4. TH.T
Correct Answer :-Hague — Netherlands / 87 - Hleedgq

15)

Question Stimulus :-
India was part of an ancient super cont.inent called Gondwanaland. It included present _
day . / MR TisarTas ATHS T YT HeTe g &7 AT 7| 9o, SOH
I AT

e South America / Gf&0T 3T

* Africa / 3WBIGT

* Australia / 3fTeciemT

e All of the above / 3T 9+

Correct Answer :-All of the above / SWRiad I

16)
Question Stimulus :-

What is the traditional colour of the jersey of the Indian national football team? / YR ?T@'q Wﬁ a9 =t
ST &1 URER® {1 FIT 82

w = . m———



® Green/ BRI
® White /
® Red/dld

Correct Answer :-Sky blue / 3RTHTA AidT

17)
Question Stimulus :-

2014 Hockey World cup was won by? / 2014 T B\ﬁﬂ ges ®Y foraq sfiar?
® Australia / Gﬁ@m
® Argentina / SSicHT
® Netherlands /ﬁaﬁ'@m
® India / HIRd

Correct Answer :-Australia / 3¥c T

18)
Question Stimulus :-

In the international cricket, who is the highest test match wicket taker in the world? / GF'?ITI'@TI' fpde ﬁ, '@'

fay & 3w A9 ° 9 Sifte fadbe o= aran &1 32
e Anil Kumble / 3ff-1@ faet
e Muttiah Muralitharan / G391 JRETeRA
® Glenn McGrath / 70 §®HUT
® Shane Warne / R AT

Correct Answer :-Muttiah Muralitharan / 0T GRETER

19)
Question Stimulus :-

The name of Sachin's autobiography is . / Tfed & ATHBYT BT A1 gl

® Wings of Fire / fdw 3ife R



* The Story of My Experiments With Truth / § ®R! 3l 91T ToauRdcH fay gy
e Jeet Appki / Siid SISt

Correct Answer :-Playing It My Way / W37 3¢ AU 4

20)

Question Stimulus :-

Who has won the 2016 National Snooker Championship? / ?T@'q HPI uferaifRraT 2016 faa St %?
* Siddharth Parikh / Rigrd wifva
® Pankaj Advani / GBS 3TSart
e Aditya Mehta / 3lTfGed AgaT
® Mahesh Yadav / TI%'QT Ylgd

Correct Answer :-Aditya Mehta / 3feed AgdT

21)
Question Stimulus :-

According to RBI guidelines, the term “Bulk Deposit” is used for single Rupee Term Deposit of / C’rﬂ?aﬁﬂé *

. gD SHT” UG BT SUINT__UH T Sudl o1 & fore glar g

® Rs. 25 lac and Above / Rs.25 ARG 3R TP W

® Rs. 75 lac and Above / Rs.75 ART 3R 3P HUR
® Rs. 1 crore and Above / Rs.1 m 3R AP W

e Rs. 50 lac and Above / Rs.50 @G 3R 3P SHW
Correct Answer :-Rs. 1 crore and Above / Rs.1 PIS 3R ITP FIWR
22)

Question Stimulus :-

Where was the first hydroelectric installation in India was installed / HRd N g8 Ugd UAfaeTe! RITYAT St T4t
4t 2

® Mumbai / 'ﬁﬁé
* Panaji / 9UMI



* Darjeeling / SIoIfeT

* Kolkata / Hlarar
Correct Answer :-Darjeeling / GIfSIferT
23)

Question Stimulus :-

Which of the following is NOT a Kharif crop? / fFfofafaad 3 o Th WP B qﬁ %?
® Jute / C
® Maize / HEFDI
e Mustard / Il
® Rice / dIIdd
Correct Answer :-Mustard / &l

24)

Question Stimulus :-

Who said ‘Supply creates its own demand’? / foua w1 o “G-ITE[ﬁ, TG YT /T FATC %"?
e Marshall / HTRIA
e J.B.Say /.99

® Adam Smith / TSH Ry

* Ricardo / N®TST

Correct Answer :-J. B. Say / 9.1 &

25)
Question Stimulus :-

The women regiment of INA was founded under / 39l fRs wis @t afgar e t wig=T EREY Sfata §'s£ Ui
 Capt. Laxmi / ST A&

® Aruna Asaf Ali / 30T 3THW 3l

® Anita Bose / 3[HtdT §IT



® Rajkumari Amrit Kaur / ITHHART 3THd BIR

Correct Answer :-Capt. Laxmi / P& d&HT
26)
Question Stimulus :-

Who among the following was awarded the Bharat Ratna in the 21% Century? / fadd ZIE?r Tl A fpa uRa
¥ O T fomar T ur?

® Amartya Sen / 3Fed |
® Bhimsen Joshi / YA W=
e JRD Tata / W.3R.S} @l

* M.S. Subbulakshmi / TH. T, JsgaA&HT

Correct Answer :-Bhimsen Joshi / HHa W=

27)
Question Stimulus :-

Find the odd one out / fqeH aren g&f&
® Bhimsen Joshi / HIHA =M
* Subhas Chandra Bose / JHTY g a9
* B.R. Ambedkar / S8R SHiaSHT
® Mokshagundam Visvesvaraya / ﬁ"[&ﬂ'{[@q fasasgan

Correct Answer :-Subhas Chandra Bose / JHTY g CIE]

28)

Question Stimulus :-

Who was the first woman in space? / Giﬂﬂ'&‘l' i | 'CIB?ﬂ 'FI'%?IT B A2
® Kalpana Chawla / AT dTdell
® Sunita Williams / '{Fﬁ_clT faferaw
e Sally Ride / Sl 358



Correct Answer :-Valentina Tereshkova / A9l d¥=PpIdl

29)

Question Stimulus :-

Who is the current Supreme Leader of North Korea? / 3©X FIAT BT qHT Jar= a1 I 82
® Kim Jong-un / fpu =i 3
e Kim Jong IT / {0 ST 11
* Kim II Sung /{58 11 I
. KimTuBong/%q'g'a.'T"T
Correct Answer :-Kim Jong-un / {9 S 39

30)
Question Stimulus :-

Who among the following is Chief of RSS? / frafaead o P11 RSS & T %.?
* Pramod Muthalik / WHIG H?-I'I'I%'IW
® LKAdvani / T & 3Sarl
® Baba Ramdev / dTdl TI'FI%H
® Mohan Bhagwat / 'Fﬁﬁ HRTdd

Correct Answer :-Mohan Bhagwat / HIg- HRTad

31)
Question Stimulus :-

Which is the biggest country in the world by area / fam | ﬁ’a’ DT '\"ﬁ'\q CE) %QT ﬁq a1 %?
® United States of America / TgI IToT 3rafy®r
® China/ G}
® Russia /Y
* Brazil / TSl

Correct Answer :-Russia / 9



32)
Question Stimulus :-

What is the maximum permissible time gap between two sessions of Lok Sabha? / WY & & G & 99
SHfwan Uy SiaRTa fhanT giar 32

® lyear/1 a¥

® 6 weeks /6 UKIlg

* 6 months /6 TG

60 days / 60 &
Correct Answer :-6 months / 6 HgIH
33)

Question Stimulus :-

The Preamble to Indian Constitution is based on the “"Objective Resolution” introduced by

-/ YR AU @) SR “IeRy e’ uR MU § S 39% gRT wRarfad fHar war 31-
 Mr. Rajendra Prasad / Y Yo% U9TG
® Mr. Jawahar Lal Nehru / i STaTgR @1d 98®
* Mr. B. R. Ambedkar / 8t &t.3(R. r@s®H:
® M. Vallabh Bhai Patel / St 9eIH HTS U
Correct Answer :-Mr. Jawahar Lal Nehru / 4T STaTgR @9 H8&
34)

Question Stimulus :-

In the Panchayat Raj System, the 'Panchayat Samiti' is constituted at the level of the . / UETgdt et

gurrell |, Uaradt |ffar o7 769 59 WR R fhar @ |

City / qT&

National / TI'@T{

Block / TP

Village / 7T



Correct Answer :-Block / ST®H

35)

Question Stimulus :-

If a new state of the Indian Union is to be created, which one of the following schedules of the Constitution must
be amended? / TTG HIRATT Y HT TP 4T o9 §1AT T 36T € a1 7 & & wfaur= &t fva srht &
wxite fmar st =nfee

® Third /T

® Second / ﬁ?ﬂ'q

® First /UYH

e Fifth / OTadl
Correct Answer :-First / UJH
36)

Question Stimulus :-

All Ministers at the center are appointed by / Fg o gt @iat ﬁl’g% 3"_'@3' aRT Ea_(ﬂ %

® The Prime Minister / TUTTHA

® The President / Tl'gclﬁl
® The Vice-President / mgqﬁr
® Home Minister / "]'BTI_?F[

Correct Answer :-The President / ITgUfd

37)
Question Stimulus :-

Which famous musician is believed to have invented the Tabla? / ﬁ? ﬁ uﬁq@ wﬂwn ﬁ Hﬂﬁ DT Sl HTHAT
ST 82

® Tansen / T‘l'FI@T'T
® Mirza Ghalib / ﬁﬁff mfers

* Amir Khusrau / 3TRR Y=

A L




Correct Answer :-Amir Khusrau / 38R I

38)
Question Stimulus :-

In which among the following states is the Indus Civilization city Lothal? / fadd fraTsad ﬁ-T'é[ HWdT b
TER AU 32

® Karnataka /m
® Rajastan / TSI
® West Bengal /'Clﬁﬂ:l' CRIG]

® Gujarat / GIRTd

Correct Answer :-Gujarat / ToRTd

39)
Question Stimulus :-

Pakistan became Independent Nation on ./ LICaSIE| | TP Wad MY 9411
® 14 Aug 1947 / 14 3 1947
* 15Jan 1948 / 15 SFa’t 1948
® 15Aug 1947 / 15 3 1947
® 14 Aug1948 / 14 3 1948
Correct Answer :-14 Aug 1947 / 14 ST 1947
40)

Question Stimulus :-

In which place did Ardh Kumbha Mela begin in January 2016 /

Had 2016 ¥ BT W 3 FH AT ARY g3
e Shirdi / RRSt
* Ujjain / IS

® Allahabad / Sdledlqg



Correct Answer :-Haridwar / NgR

41)
Question Stimulus :-

Which film actor won Padma Vibhushan award in 20162 / f® fie 3fiFar = 2016 ® TaT HYUT YRIEPTY
Sitdr?

® Chiranjeevi / R

® Shahrukh Khan / RTlg>d W4

® Salman Khan / HdHTH W4

® Rajinikanth / EEICAE]
Correct Answer :-Rajinikanth / ISHI®Id
42)

Question Stimulus :-

Doordarshan is managed by ?/ Wﬂ:{ BT UdYH *» anRI o smar %?
* DD National / DD XM
® DD Bharati / DD HTRdl
® Prasar Bharati / YR YRl
® Salma Sultan / ITHT JedlT

Correct Answer :-Prasar Bharati / TR HTdl

43)

Question Stimulus :-

Which deity was not worshipped by the Vedic Aryans? / PI-I adn aﬁ'ﬁ 3t gRT qﬁ HT:»&\‘:I'I% I?
® Indra/ g%
® Marut / HI®d
® Varun / 9301

® Pashupati / WQIQ'[%[



Correct Answer :-Pashupati / UIUfd

44)
Question Stimulus :-

Who among the following is winner of IIFA Award 2016 for Best Actor (Female) / fada
S@Y ARFE & T IIFA ¥R 2016 @1 fAsar o9 &

® Priyanka Chopra / fordeT <

® Deepika Padukone / GITUDT q@ﬂﬁ:[
® Anushka Sharma / 3JobT Tt

® None of these / 3-"|'ﬁ I 3%'&; qﬁ

Correct Answer :-Deepika Padukone / GITUT UIGHIA

45)
Question Stimulus :-

Who is the newly appointed Minister for Human Resource Development? / Haﬁgaﬁr T4 faer Sared
foera w3 B 72

® Smriti Irani/ Wﬁ E‘TF'ﬁ

® Prakash Javadekar / UPIRI Gﬂa@@_{
e RamdasAthavle / ITHGTY 3(STad

* Anil Dave / 3@ gd

Correct Answer :-Prakash Javadekar / TSI STISH

46)
Question Stimulus :-

Which country was declared Measles Free by the World Health Organization in 2016? / 2016 o foxa @
e gIRT f5T 3= Y WIRT Yo =1 e fopar mar 82

® Brazil / STeild
° Argentina/\?lﬁ'c.ﬂ:ﬂ
® Chile / fxrett



Correct Answer :-Brazil / SToiid

47)

Question Stimulus :-

ISRO stands for / an‘cjwan'\faﬁ (m) ¥ arard g

® Jndian Space Research Organisation / 3'%&7[ O e &\fﬁm

® International Space Research Organisation / ?ﬁ?ﬁ'—‘?ﬁf Oy et ar‘ﬁmsﬁm

® Indian Sponsor Research Organisation / E'%ﬂq iR fead Gﬁﬁﬂﬁﬁ?ﬁ

® Indian Space Recruitment Organisation / Eﬁ"{q:l' T R’Wﬁf m
Correct Answer :-Indian Space Research Organisation / 31Sd- w9 feast Gl‘fﬁtflgﬁ'iﬁ

48)
Question Stimulus :-

When is the “World Hepatitis Day’ observed? / oy %'aflgm feaw s 9= ST %?
* July 17th / 91§ 17
* June 27t/ §A 27
e Jan 29th / S 29
e July 28th / Ses 28
Correct Answer :-July 28th / S@mE 28
49)

Question Stimulus :-

Which body is constituted in the place of Planning Commission? / YISHT ST & I R &
T &1 e far Tar 82

® Parliament / I9¢
e N.D.C. /T84l
® NITI Aayog / Sireft ST

® All of these /3 T



Correct Answer :-NITI Aayog / e} SMTIRT

50)
Question Stimulus :-

Which of the following rivers has its source near Ajmer in the Aravalli Range? / Frafafeaa T'Iﬁ'fﬁ AT I s
SRTTC! Y61 # IR & U Hid g2

* Luni/ A

* Mahi / HI&t

* Narmada / -THal

* None of these / 78 I FI3 gl

Correct Answer :-Luni / Tt

51)
Question Stimulus :-

Name the point that lies in the first quadrant of a graph? / ﬁ’g DI ATH ERITE'& Sl UT% & UUd ’El_g[?-lfsﬂ H R

¢

° (4,-4)

* (4,-4)

°* 4,4

e (-4, 4)
Correct Answer :-4,4)
52)

Question Stimulus :-

An article when discounted by 31% costs Rs.621. What was its actual price? / ¥ d¥J UR ©Id 31% G| 9c &

WA, Y SU®! PG 621 FUA Bidl B SHBT ANATID oI FT 87
* Rs.1310 / & 1310
* Rs.900 / ¥ 900

® Rs.913.51 / ¥ 913.51



Correct Answer :-Rs. 900 / = 900

53)

Question Stimulus :-

The value of ( -1)105_ ( -1)104 / ( -1)105_ ( -1)104 HT UM

Correct Answer :-0

54)

Question Stimulus :-

If 6x%12=1, find the value of x / A 6x**™12=1 %, O x &1 A9 e

Correct Answer :--2

55)
Question Stimulus :-

The example for an algebraic equation is

(-1/4)7 x (-1/4)2

172)% + (1/3)% + (1/4)?

(xy +3x+2) + (3x% +y)

122+ 13)r + 1/4y2 =39

. / SerToid g GHISGR01 BT TH ISTe 0



Correct Answer :-(1/2)2 + (1/3)% + (1/4)2 =39

56)
Question Stimulus :-

Which of the following is need not be always true for a parallelogram? / o d ¥ guHiaR ﬂﬂ'ﬁﬁ ¥ o
fpae sa=m 9@ g ifvrard =181 &2

® Opposite sides are parallel and equal / faodta 'HFITa TR 3R IR St &
® Opposite angles are Equal / oo wior sRTeR g g
® Diagonals bisect each other / oot TP W P fauTfora eva %
® Diagonals are equal. / ool sRTeR B &
Correct Answer :-Diagonals are equal. / fawuf TR BId €
57)

Question Stimulus :-

What is the sum of the exterior angles obtained on producing in order, the sides of a Polygon with 10 sides? / 10

YSIT3 P TEYS B Y3 P qFSHIvI BT G T 82
e 900°
o 720"
o 144°
e 360°
Correct Answer :-360"
58)

Question Stimulus :-

The graph shows forecast of the temperature and the actual temperature of a city on ten
days. The maximum deviation of actual temperature from the forecast is
/ AT AU T qaga f3amar § 8k qex &7 gw Y &1 arafde avas Ramr 31 gdga 3 arafds
AU &1 Sifdan faae= &




It . ";I—, - 1;‘ "p’! ,",'?’
[ et B ] D 7 ”" "‘-."'. ‘:;r' o
= X S !'LI'* ¥
& l!‘."3'1. A !l:' ‘:‘;}“
o i %
t ‘b--s-r’ﬁ
()
® 3°%
® 2°¢
® ]°
® 4°¢
Correct Answer :-1°
59)
Question Stimulus :-
The number of times a particular observation occurs is called . Choose the
correct answer. / o IR T A3 Demr gfed giar €, 39 $&d & | T8l 3R gHAI

® Data / SICI

* Frequency / SRARAI

® Array / TRt

® Range / ufaR
Correct Answer :-Frequency / SRARAT
60)

Question Stimulus :-

Two houses with one side common wall is to be fenced. The cost of fencing is Rs.22.40
per metre. is the cost of fencing both houses. / TH TP JAH R
el gt TR A W T 3 1R @ P B 722.40 Ufd Wiew 21 g W B WY § U ot

P gl




House 1 House 2

15 m

23 m 27 m
® Rs.3390.60 / 3= 3390.60
® Rs.3087.30 / ¥ 3087.30
® Rs.3248.00 / 3= 3248.00
® Rs.3302.40 / 3= 3302.40

Correct Answer :-Rs.3248.00 / ¥ 3248.00

61)
Question Stimulus :-

In a certain region, a uniform magnetic field exists in the direction from south to north. An
electron enters the field from east to west. The force experienced by the electron due to

the field is / &% [f3a & §, Toan™ Jaora &7 ST & S Gz # SufRyd a1 71 T soae &=
o R A ufdw B SR 3T 81 &F F BRI AT GRT Ueqd a1 &H aram 9 gh

* towards north / U BI 3MiX
® towards east / YRd 3t 3R

® upwards / HUR P 3T

® downwards /T-ﬂ%ﬂ'ﬁ \"rﬁ'\’

Correct Answer :-upwards / $UR P 3T

62)
Question Stimulus :-

Acid rain is caused by SO, and NO> gases present in polluted air. The pH of acid rain will be

about / 3% Tul BT FRUI UgAT gaT & IUfRIT SO, 3R NO,, T &1 3 auf HY pH TTHT Fa-t gt
* 1.6

® 52



* 10
Correct Answer :-5.2
63)

Question Stimulus :-
The work done by a man in lifting an object of mass 5 kg to a height 50 cm from Fhe
ground level is ( g = 10 ms™2) / 5 fFAUM FHAN $ 9% B TN & R A 50 I FI S8 99
I3 # TP i gRT fbar a1 1§ 1 8( g = 10 ms™2)

e 25N

® 2500)

e 25)

e 25)

Correct Answer =251

64)

Question Stimulus :-

The Laboratory in India which maintains the standards of Sl units and calibrates the national standards of weights and
measures / HTRd H UTTRITAT S w%w@%#@ﬁmmﬁ%aﬁ?aﬁmw %?T@T[
TS BT RN Heelt &

National Physical Laboratory, New Delhi /?T@'q Q-ﬁﬁﬁ m, :rsc ﬁc_vﬁ

National Chemical Laboratory, Pune /?T@'q TSB! TIRTRITT, Hﬁf

National Testing Laboratory Pvt. Ltd, Delhi /TI'@TI ST AT ngaf PQ'I'&I%:";, feet

Naval Physical and Oceanographic Laboratory, Kochi / T'ﬁ@:“ 'l-ﬁﬁﬁﬁ Gﬁ'\" Wﬁﬂl:ﬂ'q mﬂ'rrsmm CaE|

Correct Answer :-National Physical Laboratory, New Delhi /?T@'q Wifas RIS, q’sﬁ feeet

65)
Question Stimulus :-

The composition of Aqua Regia is / mﬁm%
* Conc.H»S04 and Conc. HCI in ratio of 1:3 / W% H2SO0,4 3R Wig HCI 1:3 & 3rJurd &

e Conc.HNOj3 and Conc. HCI in ratio of 1:3 / Hig HNO3 3R ¥ig HCI 1:3 & 3rJurd A



e Conc.HNOj3 and Conc. HCI in ratio of 3:1 / g HNO3 3R i HCI 3:1 & 33Ut |
® Conc.H,50 and Conc. HNOj is ratio of 3:1 / Hi& H,50, 3R HiE HNO3 3:1 % 3gUTd |

Correct Answer :-Conc.HNO3 and Conc. HCI in ratio of 1:3 / Hig HNO3 3R 9% HCl 1:3 F
3T

66)

Question Stimulus :-

Identify a heterogeneous mixture out of the following / 9 ¥ ¥ fawwif ffrgror &t yg=nAw
® Blood plasma /FRR' TATSTHT
o Wilk/gY
° Brass/Tﬂ?ﬁf
® Soil /Hal

Correct Answer :-Soil / Hal

67)
Question Stimulus :-

Which of the following is a prerequisite for “"Natural Selection” to occur? ffgdaa

"I 9" P T & G Ugd & SMaRa® A i Al g2
® Genetic variation \3{F3’E|Tf§r$/ ICIRIEGI
* Isolation / 3fe¢iid
* Migration / IR0l
e Phenotypic variation / @&UvR=Ul fafsar

Correct Answer :-Genetic variation 3TaifR®/ faftrsar

68)
Question Stimulus :-

Which structure of the body is affected in case of osteoporosis and osteomalacia.

HTTRGRRET 3R/ ARG & $9 A TRR B DI W AT UHTIa gt @

* Bone B3I/



e Skin dl/

e Eyes / A7
Correct Answer :-Bone §si/
69)

Question Stimulus :-

10% of the bases in a DNA molecule are guanine. What could be the % of Thymine / ﬂQT-I'E[ SU[ H 10 % RP

@A g1 fha o yraei= g doar g2
®* 40%
* 80%
* 20%
* 10%
Correct Answer :-40%
70)

Question Stimulus :-

The concept of Natural selection was first given by / Wﬁ"ﬁ? TG Dt SAYROT JAUYH F G
3 7 A

® Charles Darwin /W SRiAA
e Jean Baptiste Lamarck / STI< P daTHd

® Hugo De Vries /§3T‘ﬁ St CIER: ]

® John Gregor Mendel /\_II'\I':[ IR dsd
Correct Answer :-Charles Darwin / 9Tl SIRTA
71)
Question Stimulus :-

Im—n

2
o =

20 =
i " then which of the following is true? / gfe

I 82



e m>n

* m<n

®* None
Correct Answer :-m = n
72)

Question Stimulus :-

The average salary of worker in a factory is Rs. 8000.The average salary of 7 managers is
Rs. 6000 and the average salary of the rest is Rs. 6000.The total number of employees is? /

Uh HREH | HHIRN B 3T 8000 FUT g1 7 AFoRI B! 3fi¥d 3T 6000 FUT g 3R drh! AR Bt
3T 31T 6000 FUT 7| FHANRG! P $a J&T fpa-il 82

e 30
e 32
e 35
e 38
Correct Answer :-30

73)

Question Stimulus :-

Mallesh said to his son, “ I was as old as you are at present at the time of your birth”. If the Mallesh’s age is 40

years now, the son’s age five years back was: /nﬁmﬁemﬁa%ﬁw, ‘WWQ‘TW% G{TQH?\"HW'E[
TR 3Mg & sRTaR At | Tf ol Areeizr 1 3mg 40 ol B, Y Ui ITeT T S % @ 3y ot

e 10 years / 10 99
e 12 years / 12 ¢
® 15vyears / 15 a¥
® 17 years / 17 GL

Correct Answer :-15 years / 15 9§

74)

Question Stimulus :-

A person was asked to state his age in vears. His reply was, “Take my age five years hence, multiply it by five and



TS fd O 99 § ITP 1Y Gt At A | ITHT Q19 o7, “uih a9 91 ardl A8t g Aford, 39S Ui
o B R 6 gia A1 B Mg A Ui A1 Ugd arelt A1 Si1g Pi °el GHord 3R STIdh! gdT ad SITg
5 U9 3y et & | cafea &Y amg fpa @2
* 40 years / 40 Y
® 50 years / 50 99
® 60 years / 60 GL
e 70 years / 70 94
Correct Answer :-50 years / 50 99
75)
Question Stimulus :-
104 of 64 is / 64 BT 114 &
* 19
* 210
* 176
* 180
Correct Answer :-176
76)
Question Stimulus :-

178t of 400 is how much less than 2/5t of 200? / 400 &1 1/8, 200 ¥ 2/5% A fba1 F0

2?2
* 30
° 40
® 60
® 70
Correct Answer :-30

77)



Question Stimulus :-

Mohan bought 5 dozen eggs at Rs. 20 per dozen, 7 eggs were broken. Find his percentage loss. / g A 20 LY

ufer ol & 5 ol 3 @IS, 7 3 ¢ §¢ A1 IS ufer=a gif+ J1a P
* 11.62%
* 12.65%
* 13.16%
® None of the above / SIRIGd ®Is Ht T8I

Correct Answer :-11.62%

78)
Question Stimulus :-

Fill in the missing alphabets / T 3i&R URT

a__ab__aaba_b___

® ab,ab

® a,a,ab

® b,b,b,a

® b,a,b,a
Correct Answer :=b,b, b, a
79)

Question Stimulus :-

14% of 800 is / 800 PT 14% %:
®* 136
®* 146
* 112
® 158

Correct Answer :-112



Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / ¥ IR Udl # 4 &9 91 {17 23 10 ud & THeH 9 T8l 82

United States Canoe and Kayak Team
E-Mail: usckt@aol.com

Indianapolis, Indiana

(317) 237-5690

(800) 733-4976

(i) United States Canoe and Kayak Team
E-Mail: usckt@aol.com
Indianapolis, Indiana
(317) 237-5690

(800) 733-4976

(ii) United States Canoe and Kayak Team
E-Mail: usckt@aol.com
Indianapolis, Indiana
(317) 237-5690

(800) 733-4976

(iii) United States Canoe and Kayak Team
E-Mail: usckt@aol.com
Indianapolis, Indiana
(317) 237-5690

(800) 733-4976



E-Mail: usakt@aol.com
Indianapolis, Indiana
(317) 237-5690

(800) 733-4976

® jv
Correct Answer :-iv

81)
Question Stimulus :-

The series given below contains a sequence of alph-abetsf and numbers. Identify.the
incorrect combination: / T & T Y@ A 3&RY R JWAT3MT BT P AfFfera g1 el JaroT
gaIIg:

i. df8o7ebuwz ii. df8o7e6uwz
iii. df8o7e6uvvz iv. df807e6uwz
® i
® i
® ii
* v

Correct Answer :-iii

82)
Question Stimulus :-

The speed of a car increases by 5 km after every one hour. If the distance traveled in the first one hour was 45
km, then what is the total distance traveled in 7 hrs? / g% Tdh e & UYTd PR B id | 5 forrt ot ﬁ Eﬂ—cﬁ %I
gfe Ugd Ue He H 99 FI TS gl 45 ot <R, @t 7 vl A 7w A 1S A & A |0 B2

® 400 km /400 FFHY

e 350 km /350 fpeY



e 380 km /380 forelt

420 km / 420 fopi
Correct Answer :-420 km / 420 fooet
83)

Question Stimulus :-

Gopal takes 70 milky bars at Rs.2 each 50 Cadbury at Rs.10 each; and 90 perks at Rs.5. How much discount will
get at 5%? / UTA T 2 AP & Ged § 70 T IR, TU 10 TS & o0 A 50 HSal; 4T T 5
TAF & Yed | 90 UH AdT 81 5% DI & W 39 fpa-l ge ure erft?

* 54.50

* 50.50

* 60.50

° 70.50

Correct Answer :-54.50

84)
Question Stimulus :-

Find the next term in the series 1,4,10,22,46, /Sl § 3[TAT UG [T BIOE 1,4,10,22,46,
° 68
° 48
e 12
° 94
Correct Answer :-94
85)
Question Stimulus :-

Find the next term in the series. / G § 3FTAT UG JTd PIfoIE|

6, 12, 30, 84, 246

* 732



e 832

® 944

® 748
Correct Answer :-732
86)

Question Stimulus :-

In a certain language ‘veny heny steny’ means ‘get out man’ and ' steny shomy shelt’
means ‘out of danger’. Then in that language the word ‘steny’ is used for: / ot @ T |
‘veny heny steny’ &I Hddd g ‘get out man’ 3R steny shomy shelt’ &1 Hddd T ‘out of
danger’| @ 39 YT § g ‘steny’ TP T YANT BT &:

® danger
® man
® out
® of
Correct Answer :-out

87)

Question Stimulus :-

In the sequence shown below, which figure comes next? /i feEard 1 %9 ¥ SpTet Gﬂ?ﬁf P ot ghft?

i ii 1ii iv




Correct Answer :-

88)

Question Stimulus :-

Two people, P and Q are married to each other. E and F are brothers. If E is P’s brother,

then, how is F related to Q? / &I @NI, P 3R Q U& gai¥ A TMEI-3[&T 81 E 3R F WIS &1 9fS E, P &1

HTE 8, @, F, Q F $ wafdra 32

® Brother-in-law / %a‘\r

® Sister-in-law / aaTFﬁ

® Sister / d8H

® Cannot be determined / qﬁ J1d foar s gar
Correct Answer :-Brother-in-law / ¢’

89)

Question Stimulus :-

mE s mE ___ _ _ __ _ mN_ _ s ma "_ sl _ ___"@&_ _ &£ my f mE I mE =rr

- O o Y e




M @ N means that M is the brother of N / M @ N &1 Hddd g f& M, N &1 4TS §
M % N means that M is the father of N/ M % N ®TAdag ¢ fo M, N & a1 &
M - N means that M is the sister of N/ M- N ®TAdad e fd M, N I dg7 &

M = N means that M is marriedto N / M = N ST Haaq 8 & M, N 9 =1l 3[e1 8

If the relationship between Pand T is representec'l.as P# Q @R % S - T, then, which of the
following is always TRUE? / GG PR THF T FTITUP # Q@R % S - T ¥ e=iwr man g, Y, Ao
" A B AT FURM TG §NIM?

e Pis the father-in-law of S. / P, S & TR ¢
* S is the daughter-in-law of Q. / S, Q ®! 9§ &1
e Qistheuncleof T. / Q, T & 3iFd g |
® Tisthe nephewof Q. / T, Q &I 'J-R-ﬂﬂT%I
Correct Answer :-Q is the uncle of T. / Q, T ¥ 3i®d g1

90)

Question Stimulus :-

A is married to C. F is B’s brother. D is A’s daughter. E is C’s brother. B is C’s son, but C is not B’s mother. Who
is B’s mother? / A, C & RITGI-X[GT &1 F, B T UTS 81 D, A ® a1 Bl E, C HT UTS 1 B, C BT 9T §, AfP
C, B 1 HTAT 75! g1 B & ATAT HI 52

Correct Answer :-A

91)
Question Stimulus :-

Which of the following is the mirror image of FOLDER? / fgda P11 AT FOLDER BT E'd:UT yfafera %?

EODDEK

EOTDEEK



EOODEK

EEEOTD

EOTDEK
Correct Answer :-

92)
Question Stimulus :-
In the following question the first word has certain relationship with the second word. If the third word has to have the
similar relationship with the fourth word, the fourth word will be: / Frauy ﬁ, ‘Tﬂ'a Qo PT W LI & 91y
et TR @ B "oy 71 afe TN T &1 DY g F 1Y W UHR BT FEY A1 AR, A AAT Ve
EﬁTIT:
Lucid : Obscure :: Evasive : ? / UIae : 3¥UY :: HUSYY! : ?
® Free / o
® Honest / g'FI'FIE'R'
* Liberal / 3GRATG
® Frank / Theh
Correct Answer :-Honest / SHFGR
93)
Question Stimulus :-

In how many different arrangements can 5 men and 5 women sit around a table so that no two men sit together? /

ot forait fire sgawireil #, ue AW & A 5 [7vw U4 5 Afgamt 9o I@d € f5 35 M geu qry 993
* 5040
e 2520
e 2880
* 1440

Correct Answer :-2880

94)

Question Stimulus :-



Mona goes for a walk from her house towards West. After walking 30 m she turns right and walks 20 m. She then
turns left and moves another 10 m, before turning left again and walks 40 m. She now turns to the left and walks 5

m. She then turns to her left. Find out the direction in which she is walking now? / AT 3UH R ufyy $t
3R egeq & forg St 31 307t Ued 9a & 91 98 o gl § ofik 207 Tadt 31 b a8 i 8ik
qed! ® SR 7: 914 8 ge1 ¥ ugd 39 107} I §, 3R 40H] Yo Tad 21 3« 98 91 YISl &
X 5HY Faet 1 98 PR A 918 gedt 81 a8 fomm i Rorrd g el =a w6t &2

® North-West / IAR-ufdH

® East /q\é

® North / 3R

e South-East / af&I'UTJFf

Correct Answer =North / 3%

95)
Question Stimulus :-
The question is based on the following arrangement. / U¥ g sgawr ww euTia %l

WIR%4JE#7MT219BH3AS9FQ5DG6USP

If the order of the last fifteen elements is reversed, which of the following will be the fifth to the right of twelfth

fromtheleftend?/qﬁmmﬁﬁmwwwmm,?ﬁmﬁﬁﬁqmaﬁmﬁ
IRed @ it 3R ul=rar ghm?

* U

Correct Answer :-U

96)
Question Stimulus :-

Select the statement which is logically equivalent to the given statement: / dg ®YUYT gﬁﬁ S d & =R @ 1%&
T YT & 9 3:

No athletes are lazy. All basketball players are athletes. / ﬁé Eﬂ?ﬂ? 3ot qﬁ %.I Tt aifspe ara m
Tydie Bl

® No basketball player is lazy. /aﬁ’s‘ ot arfepe afa @'ﬂﬁﬁ 3Tt qﬁ %I



® All basketball players are lazy. /gt sTfepe Ira %?I'K‘ﬁ STt %'I
® Some basketball players are lazy. / S FIRpe did '@Tﬂ?ﬁ 3Tt %'I

® None of the above. / SURIEI Tﬁ'&" qﬁl
Correct Answer :-No basketball player is lazy. / ®1S ft a1f&pe gra fEarst =il &1 g1

97)
Question Stimulus :-

Select the statement,which is the logical equivalent to the statement given below: / dg ®Y- gﬁﬁ S 9% ot ke
¥ e T Y9 F$ A §:

It is not true that both Rama and Ravana fought the battle. / 98 A T'I'l:apf % o ww Gﬁ'\" TdUT aﬁ’f E| J& dsTI
® Rama fought the battle and Ravana fought the battle / YTH Gl g& dsT 3T Irqur Y& ST
® Rama fought the battle and Ravana didn’t fought the battle. / JTH a4 & dsT 3R 3raur & Tel aSTI
® Rama didn’t fought the battle and Ravana fought the battle. / I 3 & 7Tl @ST 3R TN A & ASTI
® Rama fought the battle or Ravana fought the battle. / ITH = Y& ST T I1quT = Y& STl

Correct Answer :-Rama fought the battle or Ravana fought the battle. / XTH ¥ g& @ST aT XG0T A J&
ST

98)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg faweu gﬁ'ﬁ
st el T Y=l ik fAepul & I # T B:

Statements: / 9YA:

All candles are horses. / I HiAaREl 918 1
Some bells are not candles. / $ uftear AiuakEr T8l o

Conclusions: / fAp:
i. All bells are horses. / 9 gftear 912 g1
ii. Some bells are horses. / $© "ftedr OIS B



® Only conclusion II follows / $dd st 11 fiwear 8
® Both conclusion I and II follows /ﬁl'wﬂf I Gﬁ?’ 11 T‘ﬂ:ﬁ frrperd %

® None of the conclusion T and II follows / o5t 1 3R 11 ¥ & IS +t 8 Frpaar @
Correct Answer :-None of the conclusion T and IT follows / IS 1 SR 11 & & ﬁ'é ot 7Y frperar &

99)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg faweu i[ﬁ'a
Sil i3 T BT 3k el & TR # TEl 8

Statements: / $Y:
All roads are baskets / 9 Ts® oAl g
Some roads are windows / $© g% fQsfbdl &

Conclusions: / fAepd:
i. Some baskets are windows / 3 THRAl fASfPal 8
ii. Some windows are baskets / $© fQsfear cieiar &

® Only conclusion I follows / Had foread 1 fArpean %

® Only conclusion IT follows / &ad freed 11 fFreadar '%

® Both conclusion I and II follows / 55 1 3R 11 g fpard &

® None of the conclusion I and II follows /ﬁw I Gﬁ? II ﬁ ﬁ aﬁ's{' ‘J-ﬂ T'IéT ﬁﬁ—rﬂ %

Correct Answer :-Both conclusion I and II follows / Frspd 1 3R 11 €4 fAreperd @

100)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg ey il,ﬁ'a
it 33 T YT ik Frspuf F 9 § Ut ?:

Statements: / 9Y:
All bottles are iron / I didal @igT &

Some bottles are paper / $S ddd B &



Conclusions: / fap:
i. Some iron are paper / $9 e W%

ii. Some paper are iron / P9 PR @8 &
® Only conclusion I follows /| pad feread 1 fepear %
® Only conclusion IT follows / Had foreed 11 fFreadr %
® Both conclusion I and II follows / F-sH ¥ I 3fi¥ 11 aTﬁ fred %
® None of the conclusion I and II follows /ﬁwﬁf I GﬁT 1I ﬁ '\ﬁ aﬁé =r5°r ﬁlﬁ?ﬂ %

Correct Answer :-Both conclusion I and II follows / Frspd 1 3R 11 ) frherd @
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